1 (Sem-3) MDCO0O4

2024
( Multidisciplinary Course )
Paper : MDC030403
( Business Statistics )

Full Marks : 45

Time : 2 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x5=5
were fraraRs fRoeEE T o -

(a) Distinguish between univariate and
bivariate data.
GFF-5F O HF fR-5aF OYF TER AN
forar

(b) If Ais a certain event associated with a
random experiment, then P(A) is equal
to

( Fill in the blank )

i A, IRE = GOR F9S b1 fAF5S Toa
T, (SR PA)ITFTI_____ | .
( R 3R @ ),
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(2)

(c) Ifr=tl, then the two lines of regression
are

3t 7 = £1, (SCTR'CH AT I O 29

(i) coincident

SRS}

(i) parallel
SR

(i) perpendicular to each other
S i SR

(iv) None of the above
ST OIS T

( Choose the correct option )

( == o TR Sfrear )

(d) Lockout in a factory for a month is
associated with which component of a
time series?
9B FRYA® G2 4R ©H AR SREICH!
JECHAT FFCHT TN 9T TfYw 2

(e) What are the different kinds of error
associated with tests of significance?

MFOl ARNPR e we Rew ™7 =
R
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(3)

2. Answer the following questions : 2x5=10
wers fra erepRd e ford

(@)

(b)

(©

(@)

(e)

A25/258

Define null hypothesis.
Re aes1 1w o |

Mention two properties of Karl Pearson’s
correlation coefficient.

o PR T G T o S
91|

If A and B are two évents, not mutually
exclusive, connected to a random
experiment and

P#) =21, PB) -2 and AU B =

then find the value of P(An B).

it A w1 B <51 q7ioRe AR FTS &S 151
o, R oo Rafdfe w=7, o

=1 _2 -1
P(A)-4, P(B) SWP(AUB) >
(@ P(An B)I 9 T 41 |

What do you mean by skewness?

Ay fercat 5 q@m 2

Find the harmonic mean of 2, 3 and 5.
2, 3 9F 53 WX Ny g 711
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(4)

3. Answer any four of the following questions :
: 5x4=20
wore fran e R et sifRER Tee fora -

(a) The AM and GM of two numbers are 9
and 7-2 respectively. Find their HM and
also the numbers.

71 IR FET TG 9 W GCres My 7-2,
R PR T[S T el 91 W1 -4 e
g 1

(b) Find the missing frequency for the
following data whose median is 24 :

ToR OYR *R{1 G IR AT 1, I] T

24 e frn =R :
Class Interval Frequency

Pl : JIITA
0-10 5
1020 25

20-30 ?
3040 18

40-50 7

(c) What is time series? Give two examples
of time series data. What are the
different components of time series?

1+2+2=5
I 57 FECN T YB TrrRd oo
R RA Somea T & R 2

(d) State the mathematical definition of
probability. Also mention its drawbacks.

3+2=5
SRR sfafes ke forr wte W|WR

SpRYPIR Ty 11 |
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(-5)

() What is sample survey? Distinguish
between sample survey and census

survey. 2+3=5
oifrd 51 R 2 Ao ST = o A
ST NP o |

() What is Poisson probability distribu-
tion? Write down the basic features of

this distribution.

2+3=5

o5 SRl 357 57 % IGR T W@REPER

feram

(g) Calculate Karl Pearson’s correlation
coefficient from the data given below :

g O[O} I PIEIeay ITEE B

g F:

x 1 2 3 5 6 7

y : 3 5 6 10 11 13

(h) Given (31 =ICR)
X y

Arithmetic Mean 36 85
bt RIE
Standard Deviation 11 8
Y% Roeia

Coefficient of correlation between x and

y =066

X ¥y TR TR ST = 0-66
Find the regression line of y on x.
xq SRS y I TR AN #6779
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(6)

4. Answer any one of the following questions : 10
ore fan 2reppRd R e @b Tes fore
(@ (i) Define correlation between two
variables. Explain different types of
correlation with examples. 2+4=6
W T Te© SFOTETE K@ o |
T1zaePiz RS T STorEs I 4 |
(i) Given (a1 =mR)
n=15x=25y =18, 3(x-Xx)=136,
2y-Y) =138, Xx-Xx)(y-7)=122
Find r,,. 4
Ty T e =11
(b) (i) From the data given below,
calculate the trend using 3-yearly
moving average method : 7
3-TJW R AT &Y WIS o
SYRMT [T 2RFoR T fAef7 3441
Year | Sale (in thousand ¥) Year | Sale (in thousand ¥)
I | REFH(IERITS) ®I | RF(I=ITI)
2001 5 2009 13
2002 7 2010 17
2003 9 2011 19
2004 2 2012 14
2005 11 2013 13
2006 10 2014 12
2007 8 2015 15
2008 12
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(7)

(i) Write a short note on any one of the
following : 3

©oq R @A 95 $o[S Y G fora
(1) Seasonal variation
WS ST
(2) Uses of time series analysis
TN RORR WR |

(¢ () What is the probability that a
non-leap year selepted at random
has 53 Saturdays? 4

e AR T @b We, R fiey
WH T, 530 ¥HE @R e
=2

(ii) Sfate three properties of normal
distribution. 3

2T 3BT TSROT «f o |

(iii) Two dice are thrown simul-

- taneously. Find the probability that
the sum of the faces is not less
than 9. 3

o1 Tpel wemereel fewet 11 2 | Tt
Tpabe AT @RI IR @R
9T W (AIREN I fRefy 7 |
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(8)

(d) () From the data given below,
calculate mean and variance : 3+4=7

Oe{ O AS1 IR Y | AN I

e < :
Profit (Tin lakh) | No. of Companies
7S (7} 5ITS) 14 i CIC RS

20-30 30
30-40 58
40-50 62
50-60 85
60-70 112
70-80 112
80-90 57

' 90-100 26

(ii) Write a short note on any oné of the
following : 3

o R QI G- 8oiFo 55 G ol

(1) Simple random sampling
method

e qpfoRE WA & affer
(2) Test of significance
el R

() Scatter diagram
o g

% % &
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